22
H17 H20 H26
180 17/150 H20|135 H22|100 H26
_[59.6 H20[59.9% H22[62.0 H26
H22 H23

1] 413 - A

2] 20,057 | 17,832
AA

102 11 (17,832)
3] | 16,420 | 24,254 AA

27 174 1 (24,254)

4] | 81,254 | 65,959
AA

10 (4,519)

5] | 61,901 -
AA

4 -

6] | 192,122 | 389,531
AA

8 (5,431)
7] ( ) | 176,290 | 90,802 AA

(2,885)
8| | 2,984 | 10,034 A

15 (4,034)

9| | 984 -
A=53.19m2 - AR

10| | 21,152 -
AA

2 -

11] | 62,820 -
AA

3 -

12| | 120,758 -
AA

3 -

13| ( ) | 67,898 -
A

2 3 -

14| | 13,105 -
21 2 . A

838,158 | 598,412

(58,955)




08 lo1 lo1 50
03 268
|
(

413 413 0 100.0 %

20
22
413

08 lo2 lo2 lo1
o1 270
)
20,057 20,064 7 99.9 %
17,251
10 | 15 | 23 | 22 | 15 | 17 | 102
1,182
5
895
171
3 389
335
.
389
2 333




08 lo2 |02 lo1
02 270
( )
16,420 16,421 1 99.9 %
273
5
1,732
1,680
52
14,410
6 1] 1] 4 3 12 27
474 79| 59| 185 117| 513 1427
42| 17| 20 5| 7| 41| 42| 174
2990 6511677 523 517|4672[1953 12983
48] 18] 21| 9| 10| 53] 42| 201
3464 7301736 708] 63451851953 14410

o8 02 = lo1

o1 272

( )
81,254 83,653 2,399 97.1 %

10
1 5140| 13767 18907
C ) 290] 12161 12460
3 () 2.795| 20619 9096 217 32727
C ) 132 132
1 1932 12,761 14693
( ) 1969 1,969
366| 366
10166] 61277] 132] 9096] 217] 366 81254
81,268
99.9 %
23 2,385
1,950
23 10
435
23 8

77,200




08 02 o3 loa
01 272
( )
61,901 66,422 4521 93.1 %
4
o
( ) 33,796 33,796
( ) 1,228| 13669 14,897
( ) 693| 9595 10,288
( ) 2,490 2,490
430 430
1,921| 59550 0 0 0 430| 61,901
61,922
99.9 %
n 23 4,500
23 5
61,900

o8 02 = o5
o1 272
( )
192,122 270,483 78,361 71.0 %
8
( ) 59,506 100 59,606
( y| 10,770 10,770
( ) 9,006 514 9,520
( 264] 14041] 595 16,928 31828
( 7454| 21,749| 17,226 46,429
( 3757 3757
( 427| 9269 1,240 1,271 12,207
( )| 2538 2133 9285 8 13964
4,041 4,041
25,210|115704| 28860 0| 18307| 4,041]|192122
192,383
99.8 %
23 78,100
23 8 4,900
23 11 28,000
24 1 45,200
6/10 101,131

33,600
53,800




08 lo2 o3 los
02 ( ) 272
( )
176,290 176,445 155 99.9 %
714
1/2
22 4 22
1538 29
124,979
76,670
A=5,098.02 48,309
49,521
39,900
1 3
1 2
8,944
2 3
AED 677
1,076
6/10 1/2 44,286
1/3 1/2 7367
101,200
7,300

6,900

08 lo2 o3 lo7
o1 274
( )
2,984 2,985 1 99.9 %
15 15
2,984
L=15m 15
6/10 1,790




08

02

|02 o1

02

272

984

2,760 1,776 35.6 %

21

984
A=53.19

08 lo2 o3 lo1
o1 272
( )
21,152 25707 4,555 82.2 %
21 2
9,376
4,242
5134
11,776

20,100

-10-

-11-




08 02 o3 loa
o1 272
(
62,820 72,420 9,600 86.7 %
21 3

( ) 32260 32,260

( 4986 983 2,981 8,950

( 150| 21285] 166 21610

0

159| 58531 1,149 0] 2981 62,820

62,700

08 lo2 o3 o8
o1 274
)
120,758 122,015 1,257 98.9 %
21
( ) 43563 938| 44501
( ) | o900| 54018 9548 919/ 615 66000
10,165 10,165
92 92
11,065| 97581] 9548 o o19] 1645[120758
6/10 65,760
17,800
24,700

-12 -

-13-




08 lo2 o3 o8
02 ( ) 274
( )
67,898 68,074 176 99.7 %
21
67,898
40,194
3 1
4 3
27,247
3 2
5 3
3 3
457
1/2 33,720
11,200
17,200

11 |02 |01 |02
01 370
( )
13,105 18,097 4,992 724 %
21 8 9 10 9
21 2
12,907
11,704
1,203
198
2/3 7,927
5,100

21 8

-14 -

-15 -




